M::100 7. 2ezxdn S &4

Y

>

=4z () ol EotAl2.

o
e

rlo

1. x=122"=1 07| I3t ()zAOIC}.

2.x>2 = 4<x<5 0|7] st ( )RHO|C

3.2, y ALY i x=y=0L 2’+y° =0 07|
gt (- )ZRAo|TE

4. 2*=20 07| 9fstolz=0 & ( )ZAo|ck,

5. —3<a2<3 2lz[<2 07| 28 ( )ZHOICL

6. a=b Sa+c=b+c 0|7 23t ( )=AO|C}

7. 2" =y’ 0|7] 9Bt z=y

o

N
rlo
N

N
el
o

8. z=y=0 < z+y=0 0| §7| 3t ( )ZRolct

9.(4NB) C (AUB)2A=B 7t =7| 28t ()zHo0|Ct

10. [z+yl=lzl+lyl 7t =7] 2I5t0d 2y > 0 =
( )=ZUoICH

1. 2A=60°= AABC 7} HAZE80| &7| 9|5
(R0l

12.z=109°3 y=19¢ AL z+y=2 07| &

( )=dolck

ol

v
—
ro
2
rlo

13. 221 =+ y

()=dolck

x+y=2 0|7 ¢

o

14, zy>ax+y>4 Q A2x>2 0|12y >2 0|7
Qe (- )=doIL.

15. zy+1 >z+y>2 @ ZHA2x>1 0|12 y>1
o7 st ( )zdo|ct

16. zy 7 weld A A2z +y, zy 7t Relx7t
7] flet (- )=AOIC

19. 2y =0 ¢ 2 wyz=0 0[7| 3t
()zolct,

20. C C (AUB) Q1 ZHe2Cc c (An B) 07| st
( )=RHolct.

www.math100.co.kr



